	Question on both passages


	Marks
	Marks given away

	Question 16

Which passage do you find more effective in making you think about the implications for the human race of comet and asteroid impact? Justify your choice by referring to the ideas and style of both passages. 
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	General Advice 

Final questions are usually asking you to compare/contrast the two passages.

· Evaluation type question

· The question is on ideas and style

· For full marks there must be reference to both ideas and style

· For full marks there must be reference to both passages, although not necessarily a balanced approach.

· A good answer should show: 

            clear understanding of both passages

            sensible comments on style

            convincing evaluation

· For 5 marks you must make sure you make at least 5 comments

· A bullet point answer is acceptable


	
	

	Specific Advice

· Look at your answers to the understanding type questions to help with your comments on ideas

· Look at your answers to the analysis type questions to help with your comments on style

· Any comment you make should be backed up by reference to the passages

· You must make it clear which passage you find most effective


	
	

	Response


	
	


